HMQ &% — =M%
1585 MIBR  STHBBEASR

FHRb

© 2R B

©® NEXRMEHA
® ik EEE

HIER
EE T4E (mm) 225 | 032 | o4 @55 @70 292 @125 2160
1EERN 1BEE
fERmAS TR
EREAEE Kgf / cm? (kPa) 2~ 8(200 ~ 800)
fERRESE o€ 5~80
B BN TIE ol 25 | 4 | 6 | 8 [ 10 | 13 15 | 20
HE BHMHEEHER
St BEME N 129 239 377 731 1195 1814 3649 6011
g3 N 157 265 431 810 1306 2266 3927 6434
BRIHES kg| 08 13 22 41 6.6 115 20 328
B~ IR s| 0.025 0.03 0.05 0.1 0.2 0.25 0.3 0.35
B mm +0.01 +0.02 +0.05
TREEEOE M3X0.5P M5X0.8P PT1/8 PT1/4
WaEE MitEa
S JS BB 5 keffom? B » SOTBRSEFR RS, o
HE AR T i HMQ55-P-8G2-N82
1 2 3 4 5 6
1 | %% | EI{E (mm) 2 | fRER TERMEHR 3| % RFERREE 4| R | RERHKE
25 @25 HEROER | AMITERMEAR fEEni THIRCFERS 1 M 118
32 @32 8G CS-8G 2 Wt 2 18
44 @44 8B CS-88B
55 @55 P ~ER 5| 8% | imIE6ARE
70 370 ] = WICIE | RHITIERERE
92 | g9 i/%’ é N8 NS-8
125 | 9125
o o CS-8G CS-8B 6 | sk |iFiSRARABKE
1 Ff 1 1@
2 Fft 2 &
NS-8




HMQ &% — =M%

RESIBE - FHMER - EEXR - HER O RIRTHR

PSR RIE B%
E& (kg)
HMQ @25 0.16
HMQ @32 0.3
HMQ @44 0.6
HMQ @55 0.8
HMQ @70 1.5
N L HMQ @92 3.0
0 HMQ @125 5.0
0 HMQ @160 9.0
R EAERNE ; E88
Z=# £5%
ZHMEER
iR ER & E S| e
01 fiNG: ] EaE 13 BRI FiR4R axil
02 mA RS 14 EERE sl
03 TBEERR E&il 15 B EEARIRAL A%
04 mh#E A 16 iTiRRARAERIR REE
05 JEE HE® 17 ITERERATE IR Bt
06 T EaE 18 SREEIRIEEE TEEH
07 ®BE EE® 19 SREEIRIRAL xai]
08 7321 14 20 EUEE RS
09 ZEE X BUIR [ig:: 12 21 MR =R 44 Al
10 JEEBE i ShA2 22 TR {844 A%
11 BEORR it ShA2 23 BRIRAR 44 Cxai
12 JBEERR O BUIR [impiialics
HER O HIREMHEK -
B mm
EHH 9 Z4sBE X BUIR 9 HFIRE | 10 FEAR 10 SEE X BIR 11 &% 0 B8 12 BEER O Bl
BISR HE 1 1 1 1 1 1
HMQ @25 | 7.65x11.21x1.78 - 20.35x23.91x1.78 @26 x ©1.36 @4x @1
HMQ @32 | 10.82x14.38x1.78 - 28.3x31.86x1.78 @34.5x @1.2 @5x 91
HMQ @44 | 12.37x17.61x2.62 - PSD-44 @46 x @1.5 @6 x @1
HMQ @55 | 13.95x19.19x2.62 - 48.9x54.14x2.62 @56.87 x @1.78 28x @1
HMQ @70 MY-16A 63.1x70.16x3.53 @72.75x @1.78 210x @1
HMQ @92 MY-20A 85.32x92.38x3.53 ©94.97 x @1.78 @10x @1
HMQ @125 | 32.99x38.23x2.62 117.07x124.13x3.53 ©126.67 x 22.62 @12x @1
HMQ @160 | 40.95x46.19x2.62 152x159.06x3.53 @164.77 X ©2.62 @12x @1




HMQ &5 — = /MR

KEFHEHEE

REFHRHEE

(HMQ 25- OPEN)

240

BE77: kgffem’
~ 180 B
E 120 i - T |
2 1 —
60 D e 99 N
0
10 30 50
EHERE L mm
(HMQ 32 - OPEN )
400
Ej}: kgf/(:m2
= 300 —~
E 200 265 —— 7
% 200 — .
\
100 143
3
0
10 30 50
ERERE L mm
(HMQ 44 - OPEN )
800
277 kgf/em’
Z 600 —~
R
g 400 431 —_~
- * 2285
200 i
3
0
10 30 50

EBIFEREE L mm

(HMQ 55 - OPEN )

1200
\ B2/ kgf/cm’
= 900
R 810 7
# 600 —
= 671 — 5
B 532
300
3
0
10 30 50

EFERE L mm

200

150

100

BFHH N

50

360
=z 270
R
i 180
=8}

90

1000
= 750
R
# 500
=8

250

(HMQ 25 - CLOSE)

~_ BES7: kef/em?
129~ —~—,
_ 99 \73 s
—
10 30 50

EFERE L mm

(HMQ 32 - CLOSE)

~ B3 kef/em’
239 ~—~——
—_ 185 — ¢
e — 140
 E—
31—
10 30 50

BEFRRE L mm

(HMQ 44 - CLOSE)

\ ’Ejjl kgf/cm2
377 —— 7
295 —
T 230
3
10 30 50

BIFHEE L mm

(HMQ 55 - CLOSE)

273 kgf/em’

730 ~——,

5 — |

m

—/ 490
\\ s

10 30 50
BIFERE L mm



HMQ &5 — = /MR

KEFHEHEE

REFHHEE

BHH N

AN

BHH N

BFH N

1800

1350

900

450

3000

2250

1500

750

6000

4500

3000

1500

10000

7500

5000

2500

(HMQ 70- OPEN )

~

BE73: kgf/em’

1306

\
T 7

5 — |

\\1

890

10 30
BIFERE L mm

((HMQ 92 - OPEN )

50

~ BEFJ: keffem?
2266 ~|
--\\I§Ea-~ —7 |
=
— 1534 =5
— 37
10 30 50 70

EIFERE L mm

((HMQ 125 - OPEN)

B 77: kgfjem?

3027 T~

7 —]
3088 ——__|
— L
— 2347 o7 :7
10 30 50 70

EFERE L mm

(HMQ 160 - OPEN)

T
~ BE73: kef/em?
6438~ ~
7 —
5250 | —|
S
— 4008 3555 5
3
10 30 50 70

EFERE L mm

BEA N

£BFAN N

BHFH N

3000

2250

1500

750

6000

4500

3000

1500

10000

7500

5000

2500

(HMQ 70 - CLOSE)

~_ 77 keffem’
1195 ~—~—
955 —
5
— | =
3 — |
10 30 50

EIFEREE L mm

(HMQ 92 - CLOSE)

T
~ BES3: kgf/em?
1814~ \\ 7|
1478
[ 1205 1012
10 30 50 70

BIFERE L mm

((HMQ 125 - CLOSE)

~ BEFJ: wgfjem’
3649~_|
2865 I
— }\ 5
1702
3
10 30 50 70

EBFEREE L mm

(HVQ 160 - CLOSE )

\
BE73: kgf/em’
6011~~~
4602 ~—— 7
B %\ 5
\ﬂ)'s
10 30 50 70

BFHRE L mm




HMQ &% — =M%
EBHEXREBER - KREEEN

BB RBER
BERR BISR EI1E (mm) | B/\ENEEES (kgf/cm?) KM _EBAFEL (mm) BREEEFS (N)
Open 157
HMQ 25 25 2 6-M2.5x0.45Px6.5dp
Close 129
Open 265
HMQ 32 32 2 6-M3x0.5Px8.5dp
Close 239
Open 431
HMQ 44 44 2 6-M4x0.7Px7dp
Close 377
Open 810
HMQ 55 55 2 6-M5x0.8Px9dp
Close 731
=8
Open 1306
HMQ 70 70 2 6-M6x1.0Px12dp
Close 1195
Open 2266
HMQ 92 92 2 6-M6x1.0Px14dp
Close 1814
Open 3927
HMQ 125 125 2 9-M10x1.5Px19dp
Close 3649
Open 6434
HMQ 160 160 2 9-M10x1.5Px19dp
Close 6011
= BMEF AR 5 kgf/em® B TBISkRFRELR S ©
REEELR
1 fEAAREETL A 2.1 AR AR IRAL L

oo k] e R e i

i

|
i
I
|

3
B

/S

i
i

! i] i ;



HMQ &% — =M%

VBB R~
HMQ 25 ~ 160 EMEEMER R KE
(" HMQ 25-125 " N
_6oAFSE
6-AG 6-0AE 2

. 1
JOT [ ij
ERr— _
| ¢ '@» | o
- = @ o
[ > =
N 2-0
EHRTL
[— Ve
EMUEEMEBHRAE
/" HMQ 160 “0 N
9-AF7002
o od
. T ys
[ 4 —*mi
I <
i
o) \
R
N
v AR T AH
Bfi:mm
RIgE foa A B |Cl1 | C2 D E F G H | d K L M N [0} P Q R S T
HMQ 25 122 | 6.8 {03 ] 2.8 | 147|345 - @6x3.5dp| 3.2 | 3.3| 27.2 22 - 14 | 18 M3 |63 |[17.7 |0.7 | 18 |21.5
HMQ 32 156 | 10 |14 | 45 |20.7| 44 6 - 33|33 34 27 | 235| 17 | 21| M5 |8.8 |20.7 1 21 27
HMQ 44 18.8 12 |06 6.1 | 21.7| 56 9 - 5.1 4 | 433 | 343 | 288 21.5]| 22 M5 |85 |26.5 1 22 325
HMQ 55 22.8 | 14401 | 81 |26.7| 70 | 11 - 6.8 5 | 493|375 | 31 | 248 26 M5 9 |29.3 1 26 | 40.5
HMQ 70 27 17.8 /0.9 | 10.9| 32 90 11 - 6.8 6 | 59.3 | 47.5 41 | 29.5| 30 | PT1/8| 10 | 35.3 1 30 |50.5
HMQ 92 34.8 | 194 |06 |13.6| 40 | 112 | 14 - 85 | 74| 67 | 552 | 46.7| 325 | 30| PT1/8| 10 | 38.3 1 30 63
HMQ 125 42 26 0 15 50 | 147 |135 - 8.5 9 80 59 49 39 | 40 | PT1/4| 12 48 1 40 81
HMQ 160 | 45 28 | 0 20 | 67.5| 185 |16.5 - 10.5| 12 | 101 80 68 54 | 50 | PT1/4| 15 62 1 50 | 100
B{iI:mm
o feat U Vv w X Y z AA AB AC AD AE AF AG AH
Rigk
HMQ 25 24 R25.5 36 M4 @2x6dp 15 M3 6.5 2 4 22.8 o4 M2.5 8
HMQ 32 29.5 R32 45 M4 @3x6dp 20 M5 8.5 2 4 ?3.3 @5 M3 12
HMQ 44 34.5 R37.5 56 M6 @4x8dp 28 M5 7 3 5 ?4.3 [4]9) M4 13
HMQ 55 43 R46 70 M8 @5x16dp 33 M5 9 3 5 25.3 28 M5 16
HMQ 70 53 R57 90 M8 @5x16dp 40 M5 12 4 6 26.3 @10 M6 20
HMQ 92 66 R70 112 M10 | @6x20dp 53 M5 14 4 6 26.3 210 M6 24
HMQ 125 84.9 R87.5 147 M10 | @6x20dp 71 PT1/8 19 2 7 @10.3 214 M10 32
HMQ 160 105.8 R110 185 M12 | @6x20dp 90 PT1/8 19 2 7 210.3 214 M10 22




HMQ &% — =M%

TERMEASMNBERY - REREERERSZ

TERIEZR
BfiI:mm
fos A B [} D
RigE
HMQ 25 8 21 3 325
HMQ 32 10 27 4 40.5
HMQ 44 10 32 4 50.3
HMQ 55 12 40 4 57.3
HMQ 70 12 50 4 67.3
HMQ 92 15 62.5 4 76.8
HMQ 125 20 74 4 90 [a)
HMQ 160 24 98 4 110.9 @ | @
RERZEMNE
CS-8B/ CS-8G
R FESEE O RipEsRRIgE
R R R+
RESETRARE > EEESHHEE =
ERAESSB% » WS IR R SRR B
0E ; TR MR 2 S % 0.5mm ¢s-8B
EEZ%)%%O ﬁﬁ%@ DC 5~ 30V
7S BREL k 1= (+)

O BER>RTHEERE o T

ETE
@Eﬂziﬁ?ﬁ—l R EERIRA
3 —

[——m e

LN

o
BREER) !imsﬁ@(m! BEZR)

REREME

-
fFREEE: DC5~ 30V gb%



	3.0-B_部分1043
	3.0-B_部分1044
	3.0-B_部分1045
	3.0-B_部分1046
	3.0-B_部分1047
	3.0-B_部分1048
	3.0-B_部分1049

